Proposed NU Business Name: LITON STORE



Project identification and prepared by: Md.Sahabuddin Mohanpur Unit, Rajshahi

Project verified by: Md. Abdul mannan Talukdar



Brief Bio of The Proposed Nobin Udyokta Name **MD.LITON HOSSAIN** 15-12-1993 (23 Years) Age Honurs 3rd year Education, till to date Married Marital status Children Nill No. of siblings: 01 Brother, 01 Sister Vill :Kaligou khajura P.O Mohanpur: P.S:Mohanpur Dist: Rajshahi. Address Parent's and GB related Info Mother **Father** (i) Who is GB member (ii) Mother's name MOST. KAJOL REKHA MD. OMOR ALLI (iii) Father's name (iv) GB member's info Branch: Mowgasi, Mohanpur Centre # 6 (Female), Memb 8733 Group No: 10 Member since:Befor 2006-2012 Pesent 1 year (7 Years) First loan: BDT 5,000/-**Further Information:** Existing loan: BDT 10,000/- Outstanding loan: BDT4,280/= (v) Who pays GB loan installment Father (vi) Mobile lady No (vii) Grameen Education Loan No

No

(viii) Any other loan like GB,

BRAC ASA etc...

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	Four years experience in running business.
Training Info	:	He has no training
Other Own/Family Sources of Income	:	Agriculture
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01723-248411
Mother's Contact No.	:	01820-540367
NU Project Source/Reference	•	Grameen Shakti Samajik Byabosha Ltd. Mohanpur Unit, Rajshahi.

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

MOST. KAJOL REKHA joined Grameen Bank since 07 years ago. At first she took 5,000 taka loan from Grameen Bank. She gradually took No loan from GB. Utilize loan in business.

Proposed Nobin Udyokta Business Info				
Business Name	:	LITON STORE		
Location		Kaligau:,Mohanpur ,Rajshahi.		
Total Investment in BDT	:	BDT 90,000/=		
Financing	:	Self BDT 40,000(from existing business)44% Required Investment BDT 50,000(as equity) 56%		
Present salary/drawings from business (estimates)	:	BDT 4,000		
Proposed Salary	:	BDT 4,000		
Size of shop	:	20 ft x 12 ft= 240 square ft		
Security of the shop	:	Nill		
Implementation	:	 The business is planned to be scaled up by investment in existing goods like, Biscit, Soft Dringks, Doi, Mishti etc. Average 20% gain on sale. The business is operating by entrepreneur. He is doing his business in renting place. Collects goods from Keshorhat, Kamargone. Agreed grace period is 3 months 		

Existing Business (BDT)

Particular	Daily	Monthly	Yearly
Revenue (sales)			
Modi item	3,000	90,000	10,80,000
Total Sales (A)	3,000	90,000	10,80,000
Less. Variable Expense			
Modi item	2,550	76,500	9,18,000
Total variable Expense (B)	2,550	76,500	9,18,000
Contribution Margin (CM) [C=(A-B)	450	13,500	1,62,000
Less. Fixed Expense			
Rent			
Electricity Bill		400	4,800
Mobile Bill		300	3,600
Transportation		1,000	12,000
Salary (self)		4,000	48,000
Entertainment		300	3,600
Guard Bill			
Total fixed Cost (D)		6,000	72,000
Net Profit (E) [C-D)		7,500	90,000

Investment Breakdown								
Existing					Proposed			
Particulars	Qty.	Unit Price	Amount (BDT)	Qty	Unit Price	Amount (BDT)	Proposed Total	
Rice	2	1400	2,800	5	1400	7,000	9,800	
Ata	2	800	1,600	5	800	4,000	5,600	
Daul	10	100	1,000	1	6500	6500	7,500	
Oil	15	85	1,275	50	85	4,200	5,475	
Suger	1-	3500	3,500	2	3500	7,000	10,500	
Ditergen Soap	50	30	1,500	-	-	-	1,500	
Biscut			5,000			5,000	10,000	
Cosmetic Item			10,000			10,000	20,000	
Others Item			10,000			6,300	16,300	
Total	80		40,000	63		50,000	90,000	

Source of Finance



Financial Projection (BDT)				
Particular	Daily	Monthly	1st Year	2nd Year
Revenue (sales)				
Grocery item	4500	1,35,000	16,20,000	17,01,000
Total Sales (A)	4500	1,35,000	16,20,000	17,01,000
Less. Variable Expense				
Grocery item	3,825	1,14,750	13,77,000	14,45,850
Total variable Expense (B)	3,825	1,14,750	13,77,000	14,45,850
Contribution Margin (CM) [C=(A-B)	675	20,000	2,43,000	2,53,000
Less. Fixed Expense				
Electricity Bill		400	4,800	5,000
Mobile Bill		400	4,800	5,000
Transportation		2,000	24,000	25,000
Salary (self)		4,000	48,000	48,000
Salary (self)				
Entertainment		400	4,800	5,000
Total Fixed Cost		7,200	86,400	88,000
Net Profit (E) [C-D)		12,800	1,53,600	1,65,000
Investment Payback			30,000	30,000

Г

Cash flow projection on business plan (rec. & Pay)

SI#	Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	50,000	
1.2	Net Profit	1,53,600	1,65,000
1.3	Depreciation (Non cash item)	0	0
1.4	Opening Balance of Cash Surplus		1,23,600
	Total Cash Inflow	2,03,600	2,88,600
2	Cash Outflow		
2.1	Purchase of Product	50,000	
2.2	Payment of GB Loan		
2.3	Investment Pay Back (Including Ownership Tr.	20.000	20.000
2.3	Fee)	30,000	30,000
	Total Cash Outflow	80,000	30,000
3	Net Cash Surplus	1,23,600	2,58,600

SWOT ANALYSIS

Strength

Employment: Self: 01 Family:0 Others:0

Experience & Skill: 04 Years

Quality goods & services;

Skill and experience;

WEAKNESS

Lack of Capital/Investment

OPPORTUNITIES

Huge demand in the community Location of shop; Regular customers;

THREATS

Theft

Fire

Political unrest

Pictures







tood posicioned

ত্যাশ্র ছোনিঃ ক্রিনা রার্জ্য আছ্র - ক্যাপ্রহাত্ত রাপ্টটা किर्म क्षित्रकी का न्याशि हास्त्र प्रकार क्षायाने कार्यमें स्थानिय त्यानिय (क्रमें खिन्ते ! - छात्रस्य श्रे भेष् ०००व छ उंड रंग रेखा । । वासिः

DIDM CATL 925-27 CE かかかり 16/1/2023 ভাগর স্থ 147

इंडिनिश ১७ नर् यन्त्रम

৫নং বাকশিমইল ইউনিয়

থানা ঃ মোহনপুর, জেলা ঃ রাজ

(লাইসেন্স

বুক নং-लाइरमन न१- २३) वावमा शिक्षात्मत्र नाम...... क्रिकेट.स. प्रि. १९ লাইসেন্স প্রাপকের নাম..... শ্রেমা: মিট্ন পিতা/স্বামীর নাম শ্রেমা: ক্রিয়ার এন্ ঠিকানাঃ গ্রামঃ ক্প্রিক্রাম পোষ্টঃ थाना ३... (अश्रेत्रक्रिंग ... जिना ३. ष्य रेউनिय्रत्नत आयुषीतन. (90/0 y/ 29 पर्थ दश्मत्रकान २०)५- २०) १ তৎকর্তৃক টাকা ... 2.৫০/= কথায় 2 গ্রহণ পূর্বক লাইসেন্স প্রদান করা হইল।

वावमात्र श्राम : यमित्रामाव प्राप्ट !

তারিখ-

চেয়

-ঃ স্থানিত সদস্যদের দৃষ্টি আকর্ষণ ঃ-

পাশ বই ছাভা কোম লেনদেম করবেন না আপনার সপায় এবং কিতির টাকা পাশ বছরে এন্ট্রি হয়েছে কিলা এবং

- ২. সধায় জনা ও ইরোলনের টাকা পাশ বইয়ে এক্সি হয়েছে কিনা দেখে নিন।
- ত. কেন্দ্র মিটিং অথবা ব্যাংকের কাউন্টার ছাড়া অন্য কোপাও টাকার গেনদেন করবেন না।
- উত্তোদনকৃত ঋণ ও আমানতের টাকা বুঝে নিয়ে অফিস 🚜

সহজ খাণের পাশ বই

গণপ্রজাতন্ত্রী বাংলাদেশ সরকার Government of the People's Republic of Bangla NATIONAL ID CARD / জাতীয় পরিচয় পত্র নাম: মোঃ শিটন হোসাইন Name: MD. LITON HOSSAIN পিতা: মোঃ ওমর আলী মাতা: মোছাঃ কাজল রেখা Date of Birth: 15 Dec 1993 ID NO: 19938115313000262

এই তাড়টি গ্রমানতার্ট্র বাংলাবেশ সরভাবের সম্পত্তি। তাঙ্গটি বাবহারতারী বাতীত অংশ তোৰাও গাওৱা গেলে নিকটৰ পোন্ত অভিনে কৰা দেবৰ কৰা অনুবোধ কৰা বলো বাসাহোজিঃ ৮৭, গ্রামারাজ্য কালিগাও মান্তর্যা, কালিগাও মান্তর্যা, ভাকমত মোহনদুর - ৬২২০, মোহনদুর, রাজনাই

শাখা ব্যবস্থাপকের স্বাক্ষর শা

FAMILY PICTURE

